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I. fuEufyf[kr xn~;ka’k dks /;kuiwoZd i<+dj iwNs x, iz’uk as ds mRrj nhft, &    3$2$2¾ 7 

Tkhou dk ,d vk’k; o y{; gS vkSj ;g ckr Hkkjrh; n’kZu esa fn[krh gSA ml vk’k; dh [kkst gekjk 

nkf;Ro gS vkSj var esa ml y{; dks izkIr dj ysuk gekjk fo’ks"k vf/kdkj gSA bl izdkj n’kZu tks fd 

vk’k; dks mn~?kkfVr djus dh dksf’k’k djrk gS vkSj tgk¡ rd blesa mls lQyrk feyrh gS og bl 

y{; rd vxzlj gksus dh izfØ;k gSA dqy feykdj vkf[kj ;g y{; D;k gS \ bl vFkZ esa ;FkkFkZ dh 

izkfIr og gS ftlesa ik ysuk dsoy tkuuk ugha gS] cfYd mlh dk va’k gks tkuk gSA bl miyfC/k esa ck/kk 

D;k gS \ ck/kk,¡ dbZ gSa ij muesa izeq[k gS & vKkuA vf’kf{kr vkRek ugha gS] ;gk¡ rd dh ;FkkFkZ lalkj 

Hkh ugha gSA ;g n’kZu gh gS tks mls f’kf{kr djrk gS vkSj viuh f’k{kk ls mls vKku ls eqfDr fnykrk gS 

tks ;FkkFkZ n’kZu ugha gksus nsrkA bl izdkj dk ,d nk’kZfud gksuk ,d ckSf)d vuqxeu djuk ugha gS] 

cfYd ,d ’kfDrizn vuq’kklu ij pyuk gS] D;ksafd lR; dh [kkst esa yxs gq, lgh nk’kZfud dks vius 

thou dks bl izdkj vkpfjr djuk iM+rk gS rkfd ml ;FkkFkZ ls ,dkdkj gks tk,] ftls og [kkst jgk 

gSA okLro esa] ;gh thou dk ,dek= lgh ekxZ gS vkSj lHkh nk’kZfudksa dks bldk ikyu djuk gksrk gS] 

vkSj nk’kZfud gh ugha cfYd lHkh euq";ksa dks D;ksafd lHkh euq";ksa ds nkf;Ro vkSj fuokZg ,d gh gSaA 

       ¼1½  fuEufyf[kr esa ls dkSu lk okD; xn~;ka’k ls esy [kkrk gS ;k [kkrs gSa \ 

  ¼i½ n’kZu vKkurk ls eqfDr fnykrk gSA    

  ¼ii½ lalkj gh ;FkkFkZ gSA   

  ¼iii½ y{; dh izkfIr esa vKku ck/kk mRiUu djrk gSA 

  ¼iv½ dfBu vuq’kklu dk vkpj.k djds gh lR; dks tkuk tk ldrk gSA 

  ¼d½ dsoy 1  ¼[k½ 2 vkSj 3     ¼x½  dsoy 3      ¼?k½ 1]3 vkSj 4  

       ¼2½  Hkkjrh; n’kZu esa thou ds vk’k; dks mn~?kkfVr djus dk iz;kl djuk gS& 

  ¼d½ vKkuh dks eqfDr fnykuk            ¼[k½ ;FkkFkZ dh vuqHkwfr djuk  

  ¼x½ y{; dh vksj vxzlj gksus dh izfØ;k     ¼?k½ thou dk y{; izkIr dj ysuk  

¼3½  fuEufyf[kr dFku rFkk dkj.k dks /;kuiwoZd if<+,A mlds ckn fn, x, fodYiksa esa ls dksbZ ,d  

     lgh fodYi pqudj fyf[k,& 

     dFku % ;FkkFkZ dh izkfIr og gS ftlesa ik ysuk dsoy tkuuk ugha gS] cfYd mlh dk va’k gks tkuk       

            gSA  

     dkj.k % lHkh euq";ksa dks ’kfDrizn vuq’kklu ij pyuk pkfg,A 

     ¼d½ dFku dkj.k nksuksa xyr gSaA          ¼[k½ dFku xyr gS ysfdu dkj.k lgh gSA  

     ¼x½ dFku lgh gS ysfdu dkj.k xyr gSA  ¼?k½ dFku rFkk dkj.k nksuksa lgh gSA 

¼4½  Hkkjrh; n’kZu ds vuqlkj thou dk eq[; y{; D;k gS \ 

¼5½  xn~;ka’k ds vuqlkj ,d nk’kZfud gksus ls D;k vfHkizk; gS \  

 

 



 

 
 

 

 

II.  fuEufyf[kr xn~;ka’k dks /;kuiwoZd i<+dj iwNs x, iz’ukas ds mRrj nhft, &       3$2$2¾7 

lkgl dh ftanxh lcls cM+h ftanxh gksrh gS ,slh ftanxh dh lcls cM+h igpku ;g gS fd og fcYdqy fuMj] 

fcYdqy cs[kkSQ gksrh gSA lkglh euq"; dh igyh igpku ;g gS fd og bl ckr dh fpark ugha djrk fd 

rek’kk ns[kus okys yksx mlds ckjs esa D;k lksp jgs gSa \ tuer dh mis{kk djds thus okyk vkneh] nqfu;k dh 

vlyh rkdr gksrk gS vkSj euq";rk dks izdk’k Hkh mlh lkglh vkneh ls feyrk gSA vkl & ikl ds yksxksa dks 

ns[kdj pyuk] ;g lk/kkj.k Tkho dk dke gS ØkfUr djus okys yksx vius mn~ns’; dh rqyuk u rks iM+kslh ds 

mn~ns’; ls djrs gSa vkSj u viuh pky dks gh iM+kslh dh pky ns[kdj en~f/ke cukrs gSaA lkglh euq"; mu 

liuksa esa Hkh jl ysrk gS ftu liuksa dk dksbZ O;ogkfjd vFkZ ugha gSA lkglh euq"; lius m/kkj ugha ysrk] og 

vius fopkjksa esa jek gqvk viuh gh fdrkc i<+rk gSA >qaM esa pyuk vkSj >qaM esa pjuk ;g HkSal vkSj HksM+ dk 

dke gSA flag rks fcydqy vdsys gksus ij Hkh exu jgrk gSA vukZYM csusV us ,d txg fy[kk gS fd tks 

vkneh ;g eglwl djrk gS fd fdlh egku fu’p; ds le; og lkgl ls dke ugha ys ldk] ft anxh dh 

pqukSfr dks dcwy ugha dj ldk] og lq[kh ugha gks ldrkA cM+s ekSds ij lkgl ugha fn[kkus okyk vkneh 

cjkcj viuh vkRek ds Hkhrj ,d vkokt lqurk jgrk gSA ,d ,slh vkokt ftls og lqu ldrk gS vkSj ftls 

og jksd Hkh ugha ldrk gSA ;g vkokt cjkcj mls dgrh jgrh gS rqe lkgl ugha fn[kk lds rqe dk;j dh 

rjg Hkkx [kM+s gq,A 

       ¼1½  lk/kkj.k tho dk dke gS& 

  ¼d½ tuer dh mis{kk djds thuk  ¼[k½ vkl & ikl ds yksxksa dk vuqlj.k djuk      

  ¼x½  lius m/kkj u ysuk                ¼?k½ dk;j dh rjg Hkkx tkuk  

       ¼2½  euq";rk dks izdk’k feyrk gS& 

  ¼d½ dk;j euq"; ls            ¼[k½ vkl & ikl ds yksxksa ls 

  ¼x½ lkglh iq:"k ls                ¼?k½ rek’kk ns[kus okys yksxksa ls  

¼3½  fuEufyf[kr dFku rFkk dkj.k dks /;kuiwoZd if<+,A mlds ckn fn, x, fodYiksa esa ls dksbZ ,d  

     lgh fodYi pqudj fyf[k,& 

     dFku % lkglh euq"; mu liuksa esa Hkh jl ysrk gS ftu liuksa dk dksbZ O;ogkfjd vFkZ ugha gSA  

     dkj.k % lkglh euq"; vius mn~ns’; dh rqyuk fdlh nwljs euq"; ls ugha djrkA 

     ¼d½ dFku dkj.k nksuksa xyr gSaA          ¼[k½ dFku xyr gS ysfdu dkj.k lgh gSA  

     ¼x½ dFku lgh gS ysfdu dkj.k xyr gSA  ¼?k½ dFku rFkk dkj.k nksuksa lgh gSA 

¼4½  lkgl dh ftanxh lcls cM+h ftanxh D;ksa gksrh gS \ 

¼5½  lkglh O;fDr ges’kk dSls ekxZ dk p;u djrk gS \  

                                     

                                   [k.M&[k    

III. fuEufyf[kr iz’uksa esa ls fdUgha nks ds mRrj nhft,&           2 

       ¼1½   ’kCn dc rd ’kCn gh jgrk gS] in ugha dgykrk \ ’kCn rFkk in dk ,d ,d mnkgj.k nhft,A 

       ¼2½   in fdls dgrs gSa \ ,d mnkgj.k nsdj Li"V dhft,A 

¼3½   ’kCn vkSj in dk vkil esa D;k laca/k gS \ 

    

IV. fuEufyf[kr eas ls fdUgha nks ’kCnksa esa mfpr LFkku ij vuqLokj ;k vuqukfld dk iz;ksx dj mUgsa  

       ekud :Ik esa fyf[k,A                                            2 

           ¼1½ Hk;Udj     ¼2½ jxhyk  ¼3½ eqg       
 

V. funsZ’kkuqlkj mRrj fyf[k,&                               4 

 1- fuEufyf[kr ’kCnksa eas iz;qDr milxZ ,oa ewy ’kCn vyx djds fyf[k, &¼dksbZ nks½ 



 

 
 

   ¼1½ nqHkkZX;  ¼2½ nqyZHk       ¼3½ funZ;   

  

 

       2- fuEufyf[kr ewy ’kCnksa esa izR;; tksM+dj cuus okys ’kCn fyf[k, &¼dksbZ nks½ 

    ¼1½ yM+ $ vkdw  ¼2½ Hkwy $ vDdM+       ¼3½ ikyu $ gkj 
 

VI. fuEufyf[kr iz’uksa eas ls fdUgha rhu ds mRrj nhft,&          3 

¼1½  U;wu ¼lfU/k foPNsn dhft,½        ¼2½  izR;qRrj ¼lfU/k foPNsn dhft,½ 

 ¼3½  rFkk $ ,o ¼laf/k dhft,½            ¼4½  yadk $ bZ’k ¼laf/k dhft,½ 

  

 

VII. fuEufyf[kr okD;ksa esa ls fdUgha nks esa mfpr fojke & fpg~u yxkdj fyf[k,&         2                  

       ¼1½  ns[kk eSaus gkFk ik¡o ekjs rks Mwcus ls cp x;k 

       ¼2½  HkbZ okg bl ckj rks rqe ch ,l lh esa izFke vk x,    

¼3½  D;k ih;ksxs pk; ;k BaMk ’kjcr  
 

VIII. fuEufyf[kr iz’uksa eas ls fdUgha rhu iz’uksa ds mRrj nhft, &                      3 

 ¼1½  vksg ! fdruh BaMh jkr gSA ¼vFkZ ds vk/kkj ij okD; Hksn crk,¡½ 

 ¼2½  ;fn o"kkZ vk,xh rks /kjrh esa ueh Hkh gks tk,xhA ¼vFkZ ds vk/kkj ij okD; Hksn crk,¡½ 

        ¼3½  D;k og ?kweus tk,xh \ ¼vkKkokpd okD; cuk,¡½ 

 ¼4½  [kq’kcw ! vaxzsth Hkh i<+ksA ¼lansgokpd okD; cuk,¡½ 
                                                                

                                                                 [k.M&x 

 IX. fuEufyf[kr xn~;ka’k dks /;kuiwoZd i<+dj iwNs x, iz’ukas ds mRrj nhft, &              5 

        ,ojsLV dh rjQ xkSj ls ns[krs gq,] eSaus ,d Hkkjh cQZ dk cM+k Qwy¼Iywe½ ns[kk] tks ioZr f’k[kj ij ygjkrk 

,d /ot lk yx jgk FkkA eq>s crk;k x;k fd ;g –’; f’k[kj dh Åijh lrg ds vkl & ikl 150 fdÛ ehÛ 

vFkok blls Hkh vf/kd dh xfr ls gok pyus ds dkj.k curk Fkk] D;ksafd rst gok ls lw[kk cQZ ioZr ij 

mM+rk jgrk FkkA cQZ dk ;g /ot 10 fdÛ ehÛ blls Hkh yack gks ldrk FkkA f’k[kj ij tkus okys izR;sd 

O;fDr dks nf{k.k & iwohZ igkM+h ij bu rwQkuksa dks >syuk iM+rk Fkk] fo’ks"kdj [kjkc ekSle esaA ;g eq>s Mjkus 

ds fy, dkQh Fkk] fQj Hkh eSa ,ojsLV ds izfr fofp= :Ik ls vkdf"kZr Fkh vkSj bldh dfBure pqukSfr;ksa dk 

lkeuk djuk pkgrh FkhA‘‘ 

       ¼1½  ioZr f’k[kj ij Qwy ¼Iywe½ dSls curk Fkk \ 

  ¼d½ o"kkZ ds n~okjk                      ¼[k½ cQhZyh gokvksa ls      

  ¼x½ iz—fr ds n~okjk                          ¼?k½ ioZrkjksfg;ksa ds n~okjk  

       ¼2½  vf/kd xfr ls gok pyus ij ioZr ij D;k izfrfØ;k gksrh gS& 

  ¼d½ lw[kk cQZ ioZr ij mM+rk gSA              ¼[k½ rwQku vkus dh laHkkouk cuh jgrh gSA 

  ¼x½ ioZr VwVdj fxjus yxrk gSA               ¼?k½ ioZr NksVs & NksVs [kaM+kas esa c¡V tkrk gSA  

¼3½  f’k[kj ij tkus okys izR;sd O;fDr dks dgk¡ ls vkus okys rwQkuksa dks >syuk IkM+rk gSA 

     ¼d½ iwohZ & nf{k.kh igkM+h ls                    ¼[k½ nf{k.kh & if’peh igkM+h ls  

     ¼x½ mRrj & iwohZ igkM+h ls                     ¼?k½ nf{k.k & iwohZ igkMh+ ls 

       ¼4½  ysf[kdk dfBure pqukSfr;ksa dk lkeuk D;ksa djuk pkgrh Fkh \ 

  ¼d½ ,ojsLV ds izfr fofp= :Ik ls vkdf"kZr Fkh    ¼[k½ Lo;a dh ;ksX;rk tk¡puh Fkh      

  ¼x½ Lo;a dks Js"B fln~/k djuk Fkk                ¼?k½ firk dk liuk iwjk djuk Fkk  

       ¼5½  xn~;ka’k ds vuqlkj ,ojsLV dh [kjkc ekSle esa dSlh fLFkfr gksrh gS \ 

  ¼d½ dkQh fo"ke ifjfLFkfRk;k¡ gksrh gSa            ¼[k½ ogk¡ gYdh & gYdh gok,¡ pyrh gSa      

  ¼x½ ogk¡ dk ekSle leku jgrk gS                  ¼?k½ buesa ls dksbZ ugha  

 

              



 

 
 

  

  

 

X.    fuEufyf[kr nksgs dks /;kuiwoZd i<+dj iwNs x, iz’ukas ds mRrj nhft,A                           5 

        jfgeu ikuh jkf[k,] fcuq ikuh lc lwuA 

 ikuh x, u Åcjs] eksrh] ekuq"k] pwuAA 

        ¼1½  izLrqr nksgs esa dfo us fdlds egRo ij izdk’k Mkyk gS \ 

   ¼v½ vkVs ds  ¼c½ eksrh ds     ¼l½ euq"; ds       ¼n½ ikuh ds 
        ¼2½  bl nksgs ds jpf;rk dkSu gSa \ 

   ¼v½ uhe         ¼c½ jSnkl           ¼l½ jghe       ¼n½ bueas ls dksbZ ugha 

        ¼3½  dfo us ikuh ’kCn dk iz;ksx fdrus lanHkksZa esa fd;k gS \ 

    ¼v½ pkj              ¼c½ vusd                ¼l½ rhu       ¼n½ nks 

        ¼4½  eksrh ds lanHkZ esa ikuh dk D;k vFkZ gS \ 

    ¼v½ ped        ¼c½ lEeku               ¼l½ thou       ¼n½ fouezrk 

        ¼5½  euq"; ds lanHkZ esa ikuh dk D;k vFkZ gS \ 

             ¼v½ /ku               ¼c½ ped               ¼l½ eku & lEeku       ¼n½ ty  

  

  

XI.     fuEufyf[kr iz’uksa eas ls fdUgha rhu ds mRrj nhft, ¼yxHkx 60 ’kCnksa esa½&        6 

¼1½  nq[k dk vf/kdkj ikB ds vk/kkj ij crkb, euq"; ds thou esa iks’kkd D;k egRo gS \ 

¼2½  mQ] Rkqe dc tkvksxs vfFkfr bl iz’u ds n~okjk ys[kd us ikBdksa dks D;k lkspus ij foo’k 

    fd;k gS \ 

¼3½  jkeu ds fy, ukSdjh laca/kh dkSu lk fu.kZ; dfBu Fkk \ 

¼4½  egknso th dh fy[kkoV dh D;k fo’ks"krk,¡ gSa \ ’kqØrkjs ds leku ikB ds vk/kkj ij fyf[k,A 

  

XII.    fuEufyf[kr iz’uksas eas ls fdUgha rhu iz’uksa ds mRrj nhft,& ¼yxHkx 60 ’kCnksa esa½                  6 

¼1½  vusd lk/kq & larksa dk uke ysdj dfo D;k Li"V djuk pkgrs gSa \ jSnkl ds inkas ds vk/kkj  

     ij fyf[k,A  

¼2½  fny gYdk djus ds fy, rfVuh D;k djrh gS \ xhr & vxhr dfork ds vk/kkj ij mRrj     

    fyf[k,A 

       ¼3½  vfXuiFk ds eqlkfQj dks D;k ’kiFk ysuh pkfg, vkSj D;ksa \  

       ¼4½  eqYd dh e’kgqj vxjcfRr;k¡ dgk¡ curh gaS \ [kq’kcw jprs gSa gkFk dfork ds vk/kkj ij fyf[k,A    

 

XIII. fuEufyf[kr iz’uksa eas ls fdUgha nks ds mRrj nhft, ¼yxHkx 60 ’kCnksa esa½&       8            

¼1½  fxYyw ikB ds vk/kkj ij crkb, dh fdl izdkj fxYyw us LoPNan fogkj ds lkFk & lkFk ysf[kdk  

    dk /;ku viuh vksj vk—"V djus esa lQyrk izkIr dh \                                                                   

¼2½ ys[kd dks dkSu & lh iqLrdas buke esa feyh vkSj budk ys[kd ds thou ij D;k izHkko iM+k \ esjk      

    NksVk & lk iqLrdky; ikB ds lanHkZ esa mRrj fyf[k,A  

       ¼3½ esjh jh<+ esa ,d >qj>qjh & lh nkSM+ xbZA ys[kd ds bl dFku ds ihNs dkSu & lh ?kVuk tqM+h gS \   

                  dYyw dqEgkj dh mukdksVh ikB ds vk/kkj ij fyf[k,A                                                               
 

                                                   [k.M&?k     

XIV.  fuEufyf[kr eas ls fdlh ,d fo"k; ij vuqPNsn fyf[k,& ¼yxHkx 120 ’kCnksa esa½&        5 

 iz—fr vkSj euq";rk  ¼ladsr fcUnq& ekuo iz—fr dk vfHkUu vax] larqyu cukuk] rkieku o`f) esa jksd½ 

       xk¡o dh cnyrh rLohj ¼ladsr fcUnq&jgu & lgu dk Lrj] f’k{kk vkSj vk/kqfudrk] Hkfo"; dh laHkkouk½ 

       esjs liuksa dk ns’k ¼ns’kokfl;ksa ls vuks[kk laca/k] [kwfc;k¡ vkSj eaftysa] ns’k fuekZ.k esa ;ksxnku½ 

 

XV. vkidk fe= okn & fookn izfr;ksfxrk esa izFke vk;k gSA mls ’kqHkdkeuk,¡ nsrs gq, c/kkbZ i= fyf[k,A  5 



 

 
 

vFkok 

 vkidh fdlh pwd ds dkj.k ek¡ vkils ukjkt gSaA mUgsa eukus ds fy, i= fyf[k,A 

 

 

 

 

XVI.  vkids ’kgj esa ykmMLihdj ds c<+rs ’kksj ij nks iM+ksfl;ksa dh ckrphr dks laokn ds :Ik esa fyf[k,A 5 

    vFkok 

  cl esa fdlh vifjfpr ls fe=rk djrs gq, ;kf=;ksa dh ckrphr dks laokn ds :Ik esa fyf[k,A 

 

XVII.   fn, x, fp= dks ns[kdj viuh dYiuk’kfDr ds vk/kkj ij 100 ’kCnksa eas vius fopkj fyf[k,A      5 

 

                         

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

            ST. PAUL’S SR. SEC. SCHOOL, AJMER 

 YEARLY EXAMINATION 2024-2025 

            Time- 3 Hrs   SUBJECT- ENGLISH   CLASS – IX  M.M.- 80 

QI.  Read the following passage carefully and answer the questions that follow:  (1X10=10)   

The old lighthouse stood sentinel against the relentless onslaught of the storm. Waves, mountains of 

churning water, crashed against the rocky shore, sending plumes of spray high into the air. Inside, Elara, 

barely seventeen, gripped the railing, her knuckles white. Her father, the lighthouse keeper, had fallen ill 

suddenly, and the responsibility of maintaining the light, the beacon of hope for ships navigating the 

treacherous coastline, now rested on her young shoulders. 

Fear gnawed at her. She had helped her father countless times, but she had never been in charge, not during 

a storm like this. The wind howled like a banshee, rattling the windows and threatening to tear the very 

tower from its foundations. The rhythmic flash of the light, usually a comforting presence, now seemed a 

fragile defiance against the fury of the sea. 

Elara knew the procedure. The lamp needed constant attention, the lens had to be cleaned, and the 

mechanism that rotated the light had to be checked regularly. One small malfunction could mean disaster for 

any ship caught in the storm's grip. But her hands trembled as she worked, her mind racing with images of 

shipwrecks and lost souls. 

Suddenly, the light flickered and died. A jolt of panic shot through her. She knew the backup generator had 

to be started immediately. She raced down the winding stairs, the wind buffeting her as she opened the 

heavy metal door to the generator room. The air was thick with the smell of diesel, and the roar of the storm 

seemed amplified in the confined space. 

She found the starter switch, her fingers fumbling with the controls. The generator sputtered, coughed, and 

then roared to life, flooding the room with light. Relief washed over her, quickly followed by a renewed 

sense of responsibility. She had to get back upstairs, check the lamp, and make sure the light was shining 

brightly once more. 

Climbing back up the stairs, she stumbled, her foot catching on a loose step. She fell, hitting her head on the 

hard stone. Dazed and disoriented, she lay there for a moment, the pain throbbing in her head. But the 

thought of the ships out at sea, relying on the light, spurred her to her feet. 

Ignoring the pain, she dragged herself back to the lamp room. The lamp was damaged, the lens cracked. 

With trembling hands, she worked feverishly, using spare parts her father had taught her how to use. Finally, 

after what seemed like an eternity, the light shone out once more, a steady beam cutting through the 

darkness and the storm. 

Exhausted but triumphant, Elara leaned against the window, watching the beam sweep across the raging sea. 

She had faced her fear, overcome the challenges, and kept the light burning. She knew her father would be 



 

 
 

proud. She had discovered a strength within herself she never knew existed, a bravery born not of 

recklessness, but of responsibility and love. 

Questions: 

1. Describe the setting of the story. What makes it significant? 

2. What was Elara’s primary responsibility in the story? Why was it so important? 

3. How did Elara feel about taking on the responsibility of the lighthouse? Use textual evidence to 

support your answer. 

4. What challenges did Elara face during the storm? 

5. How did Elara overcome her fear and manage to fix the light? 

6. What does the lighthouse symbolize in the story? 

7. Define "onslaught" as it is used in the first sentence. 

8. What does "treacherous" mean in the context of the coastline described in the first paragraph? 

9. Explain the meaning of "spurred" as it is used in the sentence, "But the thought of the ships out at 

sea, relying on the light, spurred her to her feet." 

10. How did Elara’s experience at the lighthouse change her? Explain your answer fully. 

Q II. Read the following case study carefully and answer the questions that follow.   (1X10=10)    

Dr. Anya Sharma, a seasoned pediatrician at the bustling City General Hospital, was perplexed. A routine 

audit of the vaccine inventory revealed a significant discrepancy. Dozens of vials of the highly sought-after 

MMR (Measles, Mumps, and Rubella) vaccine were missing. This wasn't a simple clerical error; the records 

were meticulously maintained, and the physical count simply didn't match. The missing vaccines 

represented a serious public health concern. MMR is crucial for protecting young children from potentially 

devastating illnesses, and a shortage could leave the community vulnerable to outbreaks. 

Dr. Sharma immediately launched an internal investigation. She interviewed the nurses responsible for 

vaccine storage and administration, the pharmacy staff who managed the inventory, and even the cleaning 

crew who had access to the storage area. Everyone was cooperative, but no one could offer a plausible 

explanation. The vaccine storage unit was secured with a keycard access system, and the logs showed no 

unauthorized entries. The temperature inside the unit was consistently maintained within the required range, 

ruling out spoilage as a cause for disposal. 

The mystery deepened when Dr. Sharma reviewed the vaccination records. She cross-referenced the number 

of MMR vaccines administered with the number of vials used. Surprisingly, the numbers aligned perfectly. 

This meant that every missing vial had, in theory, been used on a patient. But this was impossible. The 

hospital's patient load hadn't increased significantly, and Dr. Sharma knew that the number of MMR 

vaccinations given hadn't exceeded the expected levels. 

Frustrated, Dr. Sharma consulted with the hospital's IT department. They analyzed the electronic health 

records system for any anomalies. After a thorough examination, they discovered a series of unusual entries. 

A small number of patients had been recorded as receiving the MMR vaccine multiple times within a short 

period. The system flagged these entries as potential errors, but they had been manually overridden by an 

authorized user. 

Dr. Sharma narrowed her focus to the staff members who had access to override these system alerts. One 

name stood out: Mr. Vikram Joshi, a relatively new administrative assistant in the pediatrics department. He 

had been praised for his efficiency and dedication. However, further investigation revealed that Mr. Joshi 

was struggling financially. He had recently taken out a large loan and was reportedly under significant 

stress. 

A discreet inquiry into Mr. Joshi's activities revealed that he had been seen leaving the hospital late at night 

on several occasions, carrying a small cooler bag. Security camera footage confirmed this. The pieces of the 



 

 
 

puzzle began to fall into place. Mr. Joshi, facing financial difficulties, had likely been stealing the MMR 

vaccines and selling them on the black market. The multiple entries in the system were a cover-up, designed 

to mask the missing vials. 

Dr. Sharma, with the support of the hospital administration, confronted Mr. Joshi. He initially denied the 

accusations, but when presented with the evidence, he confessed. He explained that he had been desperate 

for money and had seen an opportunity to exploit the hospital's vaccine supply. The missing vaccines were 

recovered from a storage unit rented by Mr. Joshi. He was immediately terminated and faced criminal 

charges. 

The incident highlighted a serious vulnerability in the hospital's system and prompted a thorough review of 

security protocols. Dr. Sharma's diligence and investigative skills not only recovered the stolen vaccines but 

also prevented a potential public health crisis. 

Questions: 

1. What was the initial problem Dr. Sharma encountered? 

 a) A shortage of medical supplies    b) A discrepancy in the vaccine inventory  

c) A malfunctioning storage unit    d) An outbreak of measles 

2. Why was the missing vaccine a serious concern?  

a) It was expensive.      b) It was difficult to obtain.  

c) It was crucial for preventing serious illnesses.  d) All of the above. 

3. What was unusual about the vaccination records?  

a) They were incomplete.   

b) They showed an unusually high number of vaccinations.  

c) They showed some patients receiving multiple vaccinations.  

d) They were tampered with. 

4. Who was initially suspected of being involved?  

a) The nurses     b) The pharmacy staff  

c) The cleaning crew    d) No one was initially suspected. 

5. What clue led Dr. Sharma to Mr. Joshi?  

a) His financial difficulties   b) His late-night activities  

c) The unusual entries in the health records system d) All of the above 

6. How did Mr. Joshi try to cover up his actions?  

a) By destroying the vaccine vials  b) By creating false vaccination records  



 

 
 

c) By blaming other staff members  d) By hiding the vaccines in the hospital 

7. Where were the missing vaccines eventually found?  

a) In Mr. Joshi's locker    b) In the hospital's storage unit  

c) In a storage unit rented by Mr. Joshi  d) They were not recovered. 

8. What was the primary motivation behind Mr. Joshi's actions?  

a) Greed     b) A desire to harm the hospital  

c) Financial desperation   d) A misunderstanding of the vaccine's importance 

9. What was the outcome of the incident?  

a) Mr. Joshi was promoted.    b) The hospital's security protocols were reviewed.  

c) There was a large outbreak of measles.  d) Both b and c 

10. What is the main theme of this case study?  

a) The importance of vaccination   b) The challenges of managing hospital inventory  

c) The consequences of unethical behavior  d) The role of technology in healthcare 

 

QIII.  Write a Paragraph on ‘Greed brings all the miseries’ (150-200words)   (5) 

QIV.  Write a diary entry on your recent visit to a place of historical significance. (150 words) (5) 

QV. Edit the following passage as there is error in each line. Write the incorrect word and 

correct word in the space given.          (4X1=4) 

        Incorrect word Correct word 

(i) Meera lost her father when she is still  …………….  ……………… 

(ii) a child. Her uncle taken care of all the  ……………….. ……………. 

(iii) property that she inherit form her father ………………. ……………. 

(iv) who has saved everything for her.  ……………… …………… 

QVI.  Write the Indirect Narration of the given Direct sentences.   (3X1=3) 

(i) The customer said, “Can I have a small bottle of tomato sauce?” 

(ii) “Sorry, I have only big bottles”, said the shopkeeper. 

(iii) ‘Ok, I’ll get it from another shop” said the customer. 

QVII. Fill the gaps with the correct form of verbs.     (3X1=3) 

(i) Either of the two dresses will…………(look) good. 

(ii) It ……………..(rain) since morning. 

(iii) The film …………(start) before I reached the cinema hall. 



 

 
 

 

QVIII.  Read the extract and answer the questions that follow    (5X1=5) 

A slumber did my spirit seal; 

I had no human fears 

She seemed a thing that could not feel 

The touch of earthly years. 

 

(i) What did seal the spirit of the poet? 

(ii) What does the poet mean by the word ‘slumber’? 

(iii) Why couldn’t the poet’s beloved feel the passing of time? 

(iv) What does “touch of earthly years” mean? 

(v) What is the name of the poet? 

QIX.  Answer the following questions in brief. (30-40 words)    (5X3=15) 

(i) How did Gerrard trap the intruder into his ‘net’?  

(ii) How did snake move on the body of the doctor? 

(iii) How did author describe the flute seller on the streets of Kathmandu? 

(iv) What message do you get from the story ’The Beggar’? 

(v) Describe the physical features of Toto. 

QX.  Answer the following questions in detail. (100-120 words)   (2X5=10) 

(i) Why is it difficult to kill a tree? What lesson do you get from the resistance of tree 

before it is ‘killed’ finally? 

(ii) God compensates the loss of one sense with higher potential to other senses.” Explain 

the above statement in context with the story of Evelyn. 

QXI.  Answer the following questions in detail. (100-120 words)   (2X5=10) 

(i) Why do we need family and friends to make a house into home? 

(ii) How did Eswaran take his ‘revenge’ from his master? Assess Eswaran’s ability as a 

story teller. 

 

 

 

 

 

 

 

 

 

 

 

 



 

 
 

 

 

 

 

 

 

 

 

 

 

 

ROLL NO.    ST.PAUL’S SR.SEC. SCHOOL,AJMER 
SAMPLE PAPER YEARLY EXAMINATION (2024-25) 

SUBJECT-MATHEMATICS ( CLASS –IX) 
TIME : 3HRS.       M.M.- 80 
General instructions- 
(i)The question paper has 5 sections A,B,C,D  and E 
(ii) Section A has 20  multiple choice questions (MCQ’S)carrying 1 mark each.( q 19 and q 20 are 
assertion reason type questions) 
(iii) Section B has 5  short answer type(SA- I)  questions carrying 2 marks each. 
(iv) Section C  has 6  short answer type(SA- II)  questions carrying 3 marks each. 
(v) Section D has 4 Long answer type questions carrying 5 marks each. 
(vi) Section E has 3  case study based questions carrying 4 marks each(with sub parts of the 
values of 1,1,2 marks each respectively) 
   

(SECTION -A) 

1.If x = 1 / (2+√3)  then the value of   x +  1/x  is 

 ( a) 2√3    (b) 4    (c) - 2 √ 3     (d) 4 - 2 √ 3 

  

2.  5. 2  in the form of p/q can be written as  

(a)4/9    (b)7/9    (c) 47/9       (d)50/9 

3. The degree of polynomial  √2 is  

(a)2     (b) 0   (c)1            (d)1/2 

4. which of the following equation have x= 1 and  y= 2 as a solution 

(a) x+ 3y=9   (b) 3x+ 5y=15   (c) 3x-2y =1   (d) x + y =3 

5. Cost of a notebook, (Y)is six more than  four times the cost of a pen (x) can be represented as 

 (a)Y = 4 x + 10   (b) Y = 4 x + 6   (c) Y+ 4x = 10   ( d)Y + 4x = 6  

6.In standard form x =3y +2 can be written as  

(a) x-3y +2=0    (b)3y-x -2 =0.    (c)x-3y-2=0    (d)none of these 

7. Number of  solutions the equation 9x  + 17 y=20 has is  

 (a) one    (b)two    (c)three    (d)Infinitely many 

8. Two diagonals are equal in a  

(a)parallelogram    (b) rhombus    (c )rectangle   (d) trapezium 

9. The figure formed by joining the midpoint is of the adjacent side of a rectangle is a 

( a )square     (b) rhombus    (c) trapezium  (d)  None of these. 

10. Which of the following is not a polynomial 

  



 

 
 

(a) y2  +√3.                                        (b) 52x      (c) 3√t.       (d) 50y2 +x 

11. Which of the following is the zero of the polynomial 3x 2 + 11x + 8 

(a) 1     (b)-1     (c) -3    (d) -2 

12.    √1225 - √9 is 

(a) an irrational number  (b) a rational number    (c) can’t say  (d)none of these 

  

13. A straight line falling on two straight lines makes the interior angles on the same side of it, whose sum is 

120° when  the two straight lines produced indefinitely meet on the side on which the sum of the angle is  

(a)less than 120°    (b) greater than 120°   (c) equal to 120° (d)  greater than 

180° 

14. One chord of a circle is known to be 10 cm. The radius of the circle must be 

 (a)5 cm  (b) greater than 5 cm   (c)greater than or equal to 5 cm   (d) less than 5 cm. 

15. The curved surface area of a cone of radius 2 r and slant height  l/ 2 is 

  (a) 𝜋 rl  (b)2 r l    (c) 1/2 r l   (d) ) (r + l)𝜋 

True or false- 

16.The sum of both pair of angles of a cyclic quadrilateral is complementary 

     (a)True   (b) False   ( c) Can’t say    (d) None of these 

17. The total surface area of a hemisphere is calculated as  the sum of the curved surface area of the 

hemisphere         

      and area of its base  

     (a)True   (b) False   ( c) Can’t say    (d) None of these 

Match the column- 

18.   1) It needs a proof          A) Postulate 

    2) The whole is greater than the part      B) Theorem 

    3) A circle may be drawn with any centre and any radius    C) Exiom 

  (a) 1- A 2 –B 3 - C  (b) 1 – C 2 –B 3 -A (c) 1- B 2 –C 3 - A (d) 1 – C 2 – A 3 – B 

Assertion -Reason- 

Directions: 

(a) Both assertion and reason are true and reason is the correct explanation assertion. 

(b) Both assertion and reason are true but reason is not the correct explanation of assertion. 

(c) Assertion is true but reason is false. 

(d) Assertion is false but reason is true 

19. Assertion :In a triangle ABC,two points P and Q are  the mid points on the sides of AB and AC 

respectively  

                        such that PQ  equal to 12 cm. If the length of BC is 24 cm, then PQ must be parallel to BC 

    Reason: The line segment  joining the midpoints of two sides of a triangle is parallel to the third side 

20. Assertion : If two interior angles on the same side of a transversal intersecting two parallel lines are in 

the                                                     

              ratio 5:4, then the greater of the two angles is 1000 

     Reason: If a transversal intersects two parallel lines, then the sum of the interior angles on the same side 

of       

           the   transversal is 1800 

SECTION - B        

 

21. Simplify   (i) 3√25    + 2√4   +   2√20  - √5      (ii)  ) 3√7  ÷   18√49   



 

 
 

22. Prove that (
xa

xb
)

a+b

.  (
xb

xc
)

b+c

.  (
xc

xa
)

c+a

= 1 

       OR 

Simplify 

√5+√3

√5−√3
 + 

√5− √3

√5 + √3
 

23.Show that (x + 1) and 2x -3 are the factors of 2x3 – 9x2 + x + 12 

24.In the following class interval  0 - 15, 15 - 30, 30 – 45, 45 – 60 Find 

(i)  The class width   (ii) Class mark of 4th class interval 

25.Evaluate the following using suitable identities 

(i)  (95 x 96)    (ii)  (104 x 96) 

SECTION - C        

26.A trianglular park ABC has sides 120 m, 80 m and 50 m. A gardener 

plant grass inside it  and has to put a fence all around it with barbed wire at 

the rate of Rs. 20 per meter leaving a space 3 m wide for a gate on one 

side.Find the area where grass is to be planted and also the cost of fencing .

  

27.If x = 2k -1 and y = k is a solution of the equation 3x – 5 y – 7 = 0 find the value of k 

28.Draw √3.5 on the number line. 

29.ABCD is a rectangle in which diagonal AC bisects A as well as C show that 

(i)  ABCD is a square 

(ii) Diagonal BD bisects B as well as C 

OR 

Prove that the line segment joining the mid points of two sides of triangle is parallel to third side. 

30.The volume of a right circular cone is 9856 cm3. If the diameter of the base is 28 cm find 

(i)  Height of the cone 

(ii)  Slant height of the cone 

(iii) Curved surface area of the cone 

31.Verify that  x3 + y3 + z3 – 3xyz = 
1

2
 (x + y + z) [(x – y)2 + (y – z)2 + (z – x)2] 

SECTION - D        

32.In a right angle triangle ABC right angled at C, M is the midpoint of hypotenuse 

AB, C is joined to M and produced to a point D. Such that DM = CM. Point D is joined 

to point B. Show that  

(i) AMC ≅BMD    (ii)  DBC is a right angle 

(iii) DBC ≅ ACB   (iv) CM = ½ AB  



 

 
 

                OR 

The side AB and AC of a ABC are produced to P and Q respectively. If the bisectors of PBC 

and QCB intersect at O then BOC=90º - 
1

2
 A 

33.A corn cob shaped somewhat like a cone has the radius of it’s broadest end as 2.1 cm and length 

(height)as 20 cm. Each 1 cm2 of the surface of the cob carries an average of four grains. find how many 

grains you would find on the entire cob? 

34.In figure of PS = PR and TPS = QPR prove that PTQ is an 

isosceles  triangle. 

 

 

35.In the adjoining figure, AB =AC . ABC =50°, then find  BAC, BEC 

and BDC 

  

 

SECTION - E        

Case study       

  

36. After periodic test-3. a mathematics teacher asks students 

to collect the marks of Maths out of 60 ,obtained by the 

students of class IX-A. Raashi of IX A scored least marks 6 in 

the class and Rishika scored highest marks 49 in the class. He 

prepared a frequency distribution table as given in the 

adjoining figure. Answer the following questions 

(i)  What is the total number of students in the  

Histogram?(1) 

(ii) How many students scored more than 50 marks?(1) 

(iii) How many students scored 50% and above marks?(2) 

       OR 

      How many students scored less than 50% marks? 

37.A sports academy provides good playing facilities to the students 

for which they created two playgrounds.   One is in the shape of 

rectangle and the other one is triangular in shape which is shown in 

the figure. On  the basis of the above information, answer the 

following questions 

 

(i)  What is the length of attitude of the triangle ABC?(1) 

(ii) Find the perimeter of rectangle DEFG?(1) 

(iii) Find the length of the diagonal of the rectangle?(2) 

                                OR 

     Find the area of the triangle? 



 

 
 

38.Deepti has a coloured sheet of a paper in the shape of a Quadrilateral ABCD. She made mid-points 

P, Q, R and S on the sides AB, BC, CD and DA respectively. Then She joined these points to get one 

more  quadrilateral PQRS?Observe the figure carefully and answer the 

following questions 

(i)  Find the measures of diagonal AC?(1) 

(ii) What is the length of AP?(1) 

(iii) Prove that PQRS is a parallelogram?(2) 

                 OR 

     Find the sum of length of SR and PQ 

 

 

 

 

 

 

ROLL NO.              ST. PAUL'S SR. SEC. SCHOOL 

YEARLY EXAMINATION 2024-25 

Time : 3 Hrs.          Subject: Science (Class IX)    M.M. – 80 

General Instructions-  

i. This question paper consists of 39 question in 5 sections 

ii. All Questions are compulsory. However, an internal choice is provided in some questions. 

iii. Section A consists of 20 objective type questions carrying 1 mark each. 

iv. Section B consists of 6 very short questions carrying 2 marks each. 

v. Section C consists of 7 short answer type questions carrying 3 marks each. 

vi. Section D consists of 3 long answer type questions carrying 5 marks each. 

vii. Section E consists of 3 case based questions carrying 4 marks with sub-parts. 
 

Section – A 

1. Which of the following correctly represent the electronic distribution in the Mg atom 

 (a) 3, 8, 1 (b) 2, 8, 2 (c) 1, 8, 3 (d) 8, 2, 2 

2. The ion of an element has 3 positive charges, mass number of the atom is 27 and the number of 

neutron is 14, What is the number of electrons in the ion? 

 (a) 13 (b) 10 (c) 14 (d) 16 

3. Which one of the following sets of phenomena would increase on raising the temperature? 

 (a) diffusion, evaporation, compression of gases 

 (b) evaporation, compression of gases, solubility 

 (c) evaporation, diffusion, expansion of gases 

 (d) evaporation, solubility, diffusion compression of gases 

4. Rutherford's alpha particles scattering experiment resulted into discovery of  

 (a) Electron  (b) Proton  

 (c) Nucleus in the atom  (d) Atomic mass 

5. Which of the following are chemical changes 

(i) Decaying of wood 

(ii) Burning of wood 

(iii) Sawing of wood 

(iv) Hammering of a nail into a piece of wood 



 

 
 

 (a) (i) and (ii)   (b) (ii) and (iii) 

 (c) (iii) and (iv)  (d) (i) and (iv)  

6. Which of the following are made up of dead cells? 

 (a) sclerenchyma  (b) tracheids   

 (c) vessels  (d) all of the above 

7. A cell placed in salt solution swells up. The solution is 

 (a) hypertonic  (b) isotonic  

 (c) hypotonic  (d) both hypertonic and isotonic   

8. Photosynthesis occurs in which type of plastid? 

 (a) Leucoplast  (b) Chloroplast 

 (c) Chromoplast  (d) None of these 

9. The cardiac muscles show 

(a) The characteristics of striated muscles  

(b) The characteristics of smooth muscles 

(c) The characteristics of both striated and unstriated muscles 

(d) None of these  

 

10. Cartilages are found in 

 (a) Joints between bones (b) Ear lobe 

 (c) Nose  (d) All of the above  

11. Earthquake produces which kind of sound before the main shock wave begins? 

(a) Ultrasound (b) Infrasound (d) Audible sound (d) None of these 

12. The value of G depends upon 

(a) The masses of bodies (b) The medium between the bodies 

(c) The temperature of bodies (d) None of these 

13. A vector quantity has _______ . 

(a) Direction (b) Magnitude (c) Both (a) and (b)  (d) None of these 

14. If the density of an object is greater than the density of water then the object will sink. 

(a) True (b) False (c) Can't say (d) None of these 

15. Match the following 

 A            B 

(P) G  (1) 6.37 × 106 m 

(Q)  g  (2) 6 × 1024 kg 

(R) Mass of earth  (3) 9.8 m/s2 

(S) Radius of Earth  (4) 6.67 × 10-11 Nm2/ kg2 

Correct combination is 

(a) P-4, Q-3, R-2, S-1  (b) P-3, Q-2, R-1, S-4 

(c) P-2, Q-3, R-4, S-1  (d) P-1, Q-2, R-3, S-4 

16. Match the symbols in column B with the elements in column A 

Column A  Column B 

A – Calcium  (I) N 

B – Carbon  (II) Ne 

C – Neon   (III) C 

D – Nitrogen   (IV) Ca 

(a) A – I, B – II, C – III, D – IV (b) A – II, B – III, C – IV, D – I 

(c) A – IV, B – III, C – II, D – I (d) A – III, B – IV, C – I, D – II  

 



 

 
 

 For questions 17 to 20 

 In the following questions a statement of Assertion (A) is followed by a statement of Reason (R). Mark 

the correct choice as –  

 (a) Both assertion (A) and reason (R) are true and reason (R) is the correct explanation of assertion (A). 

 (b) Both assertion (A) and reason (R) are true but reason (R) is not the correct explanation of assertion (A) 

 (c) Assertion (A) is true but reason (R) is false. 

 (d) Assertion (A) is false but reason (R) is true. 

17. Assertion –A moving hammer devices a nail into wood 

Reason – A moving hammer has potential energy in it. 

18. Assertion – Lysosomes are considered as 'suicidal bags' of the cell. 

Reason – When the cell is damaged the enzymes present inside the lysosomes digest their own cells.  

19. Assertion – In some plants that live in very dry environments have thick epidermis. 

Reason – To prevent water loss the epidermis is thick and after secretes a waxy, water-resistant layer 

'cutin' on its outer surfaces.  

20. Assertion – To every action, there is an equal and opposite reaction. 

Reason – The action and reaction always act on two different objects. 

 

 

Section – B  

21. What causes more severe burns – boiling water or steam? Explain.  

Or 

Convert the following temperature to Celsius scale 

 (a) 300K (b) 573 K 

22. Identify solute and solvent in 'tincture of iodine' 

23. Why  are Italian bees famous? Mention it's special features. 

24. (a) What does osmosis mean? 

(b) How is it different from diffusion?  

25. Give the location of apical, lateral and intercalary meristematic tissues with the help of a diagram.  

26. Deduce Newton's first law from the second law. 

 

Section C 

27. Draw the electron distribution of the following –  

(i) Sodium (ii) Chlorine (iii) Nitrogen 

Or 

 How many electrons, protons and neutrons will be there in an element 19

9 X ? What will be the valency

 of the element? 

28. Calculate the work required to be done to stop a car of 1500 kg moving at a velocity of 60 km/hr.  

Or 

Certain force acting on a 20 kg mass changes it velocity from 5 m/s to 2 m/s. Calculate the work done 

by the force. 

29. Why do the doctors advise to put strips of wet cloth on the forehead of a person high fever? 

 

30. (a) Why are xylem and phloem called complex tissues? 

 



 

 
 

 
(b) How are they different from one other? 

(c) Identify the diagram and give the functions of the components. 

31. Differentiate between speed and velocity (at least 3 differences). 

32. Differentiate between transverse and longitudinal waves. 

Or 

What is reverberation? How can it be reduced? 

33. (a) Name the different types of Epithelial tissues. 

(b) Draw the diagram for any two type of Epithelial tissues 

 

 

 

 

Section – D 

34. (i) Write the chemical formulae of the following – 

- Ammonium nitrate 

- Sodium carbonate 

(ii) The following data represents the distribution of electrons, protons and neutrons in atoms of four 

 elements A, B, C, D. 

Element Protons Neutrons Electrons  

A 9 10 9 

B 16 16 16 

C 12 12 12 

D 17 22 17 

Answer the following questions-. 

I. Give the electronic distribution of element B. 

II. The valency of element A? 

III. The atomic number of element B? 

IV. The mass number of element D? 

35. Explain Newton's Third law of motion with example? Draw suitable diagram. 

Or 

A bullet of 10 g strikes a sand bag at a speed of 1000 m/s and gets embedded after travelling 5 cm. 

Calculate.  

(a) The resistive force exerted by the sand on the bullet. 

(b) The time taken by the bullet to cometorest. 

 

 

Section – E 



 

 
 

36.  
(i)  What is this figure represents? 

(ii) Name the finger like structures which are seen in the diagram. 

(iii) The above structures releases energy in the form of. 

(iv) Give the function of above structure. 

(v) Write the detailed structure of above figure?  

37. Ajay has a big farmyard. He has a dairy and big fields with variety of crops growing. He has prepared 

a manure A, out of mixture of cattle excreta, litter, roughage, fodder, by decomposing them in a pit. He 

got farm and town refuse mixed up with the manure A and prepared a compost out of it. His friend 

suggested him to add earthworm to the pits and soon in 2-3 months the manure a will change to B. 

Some of his friends have suggested him to use green manure. They suggested him to grow some green 

manure plants like lobia, masoor, berseen etc.  

Answer the following questions- 

(a) What is A? 

(b) What is B? 

(c) Why is green manure better than compost or manure? 

 

 

 

38. Study the diagram of a plant cell and answer the following questions. 

 
(A) What is the composition of plant cell wall? 

(B) Which cell organelle is large in plant cell as compared to animal cell? 

(C) Which cell organelle is known as- 

(i) Kitchen of the cell 

(ii) Power house of the cell.   

39. Two friendShefali and Anu make a toy telephone by joining two plastic cups through a long string. 

They both stand apart. Anu speaks softly into one cup and Shefali hear by putting her ear in the other 

cup. Now, Shefali speaks and Anu listens. 

Read the given passage carefully and give the answer of the following questions 

(a) What type of waves are produced by voice of Anu and Shefali in the air inside the plastic cup? 

(b) What type of waves are produced in the string? 

(c) Give one difference between these types of waves. 
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Yearly Examination 2024-25 

Social Science 
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Time: 3 Hrs.                                               Maximum Marks 80 
General Instructions:  

(i) Question paper comprises six sections – A, B, C, D, E and f. There are 37 questions in the question 
paper. All questions are compulsory.  

(ii) Section A – Question 1 to 20 are MCQs of 1 mark each.  

(iii)  Section B – Question no. 21 to 24 are Very Short Answer Type Questions, carrying 2 marks each. 

              Answer to each question should not exceed 40 words.  

(iv)       Section C – Question no. 25 to 29 are Short Answer Type Questions, carrying 3 marks each. 

             Answer to each question should not exceed 60 words 

(v) Section D - Question no 30 to 33 are Long Answer Type Questions, carrying 5 marks each. Answer 

to each question should not exceed 120 words   

(vi)  Section E – Question no.34 to 36 are Source based questions with three sub questions and are of 4   

 marks each. 

(vii)  Section-F-Question no. 37 is Map based, carrying 5 marks with two parts, 37a from History (2 

marks )and 37b from Geography (3 marks ).  

(viii)      There is no overall choice in the question paper. However, an internal choice has been provided  

              In  few questions. Only one of the choices in such questions have to be attempted.  

(ix) In addition to this, separate instructions are given with each section and question, wherever 

necessary. 

------------------------------------------------------------------------------------------------------------------------- 



 

 
 

                                                 SEC A                                                                            (20x1= 20) 

1. Arrange the following events related to the formation of Communist Russiain chronological order: 

        I. The Bolshevik   Leader Vladimir Lenin return to Russia from his exile. 

        II. Tsar Nicholas II allowed the creation of an elected consultative parliament   

        III. on 24 October,Prime Minister Kerenskii Had left thePetrograd.  

        IV. Russian armies lost badly in Germany and Austria during first world war between 1914 and 1916 

Options: 

        (a) III - I - II – IV    (b) I - II - III – IV            (c) IV -1 - II - III                  (d) II -1V - I – III 

2 Which of the following crop is associated with winter rainfall? 

        (a) Zaid                          (b) Rabi                           (c) Kharif                           (d) None of these 

3 Adolescents are generally, grouped in the age group of. 

        (a) 10 to 19 years        (b) 6 to 14 years              (c) 8 to 15 years                (d) 12 to 18 years  

4. The word ‘Democracy’ comes from the Greek word________ 

        (a) Demo cracia              (b) Demo kratia               (c) Demo crate                      (d) Demo cralia 

 5. The height of Mt. Everest above sea level is. 

        (a) 8848 meters               (b) 8148 meters               (c) 8548 meters                     (d) 8248 meters  

6. What is the name with April Theses associated?  

        (a)Karl Marx                   (b) Robert Owen       (c) Stalin                            (d) Lenin  

 7. Consider the following statements - 

        1. Western ghats are higher than Eastern ghats 

        2.Western ghats act as perfect water divide 

       (a) Only 1                         (b) Only 2                        (c) Both                                 (d) None of these 

8. ………………. is the soul of the Indian constitution.          
 (a) Articles            (b) Amendments          (c) Fundamental Rights       (d) Preamble                                     
9.Which country has never been under a military or dictator’s rule?                                                          
(a)Cuba        (b) Mexico        (c) India            (d)  Nepal 

10. The Constitution of India is-                                                      

(a) very flexible       (b) very rigid     (c) partly flexible and partly rigid      (d) None of these 

11. Lok Sabha has more power than Rajaya Sabha 

       (a) money matters            (b) administrative matters           (c) judgment   (d) None of these 

12. ‘PIL’ stands for- 

       (a) Public Interest Litigation                                  (b) Public Interest Limitation  

       (c) Public Interest Limited                                  (d) People interest Law 

13. The Indian constitution has borrowed ideas of liberty from       

       (a)  French constitution                          (b) The British constitution  

       (c)  The bill of rights of the US               (d) Israeli Constitution 

14. Which of the following is not true about democracy?  

          (a) It always worries about majorities and public opinion. 

          (b) It improves the quality of decision making. 

          (c) Decision making is faster and quicker. 

          (d) It allows a room to correct mistakes. 

15. The cruelty to deprive a person’s rights is :- 

        (a)Vulnerability    (b)Social Exclusion   (c)Unemployment   (d)None of These 

16. The Scheme which looks for improving the infrastructure in a village is :- 

        (a)P.M.R.Y.   (b)P.M.G.Y.    (c) MNREGA    (d)None of These. 

17. The Scheme in which 2 Crore families were given 25 to 35 Kg of Wheat is :- 

        (a)A.A.Y.   (b) M.N.`R.E.G.A.   (c) P.M.R.Y.    (d) None of These 

18. The standard unit of measuring agricultural land is:        

        (a) Hectare            (b) Bigha              (c) Guintha              (d) All of the above 

19. Which factor is said to be superior to the other resources-       



 

 
 

        (a) Land    (b) Physical capital    (c)Human capital    (d) Natural resources 

Q.20. In the given questions there are two statements marked as Assertion (A) and Reason (R).  

          Read the statements and choose the correct option from the following: 

          (a) Both A and R are true and R is the correct explanation of the assertion. 

          (b) Both A and R are true and R is not the correct explanation of the assertion. 

          (c) A is true but R is false. 

          (d) A is false but R is true. 

  Assertion-The water was drawn from the wells using Persian Wheel by old farmers. 

  Reason -In olden days farming was done by traditional farming methods, as science and technology  

                 was not so much grown. 

                                                                      SEC B                                                                 (4x2 = 8) 

21. Why did U.S.A. enter in the Second World War? 

22. Explain coalition government.      

23. Why election is needed in a democracy?     

                                                                                   Or  

      Analyses two major challenges before the countries which do not have democratic form of governments. 

24. What happens to the food supply during a calamity/ 

                                                                     SEC C                                                               (5x3 = 15) 

25. What were the effects of the February Revolution in Russia? 
                                                                                  OR 
       What were the events preceding the 1905 revolution in Russia? 
26. “Monsoon acts as a unifying bond.” Explain. 
27. Write any two ways to increase the productivity on the same piece of land  
28. Explain the importance of political institution. 
29. Explain NREGA - Anti Poverty Programme. 

                                                                    SEC D                                                                  (4x5= 20) 

30. What effects did the First World War have on industry of Russia? 

                                                                                    Or 
         How were women perceived in Nazi Germany? Explain. 

31.   Mention the significance of Northern Plains of India.      

       Or                                                                                   

          Explain the factors affecting India’s climate.  

32. What are the main functions of the Elections Commission of India? 

                                                                                   Or 

         Describe the powers and functions of the Indian Parliament. 

33. Explain five causes of Unemployment with example 

                                                                                  Or 

         Discuss any five ways to remove of unemployment from the country                                                                

 

                                                                                  SEC E                                                               (3x4 = 12) 

Case Based Question 

 Read the passages given below and answer the questions that follow-  

34. Conservatives were opposed to radicals and liberals. After the French Revolution, however, even 

conservatives had opened their minds to the need for change. Earlier, in the eighteenth century, 

conservatives had been generally opposed to the idea of change. By the nineteenth century, they accepted 

that some change was inevitable but believed that the past had to be respected and change had to be brought 

about through a slow process. Such differing ideas about societal change clashed during the social and 

political turmoil that followed the French Revolution. The various attempts at revolution and national 

transformation in the nineteenth century helped define both the limits and potential of these political 

tendencies.  

(i) Who were the Radicals? 



 

 
 

(ii) Who were the Liberals? 

(iii) Who were conservatives? Why were they not ready to accept the changes? 

 

35.        Once the constituencies are decided, the next step is to decide who can and who cannot vote. This 

decision cannot be left to anyone till the last day. In a democratic election, the list of those who are eligible 

to vote is prepared much before the election and given to everyone. This list is officially called the Electoral 

Roll and is commonly known as the Voters’ list. 

(i) On which basis voter list is prepared?                                                                                                        1 

 (ii) What is the other name for voters list?                                                                                                     1 

(iii) In how many years are the voters  list updated? Who have got the right to vote?                                   2 

 

36.  Another phenomenon associated with the monsoon is its tendency to have ‘breaks’ in rainfall. Thus, it 

has wet and dry spells. In other words, the monsoon rains take place only for a few days at a time. They are 

interspersed with rainless intervals. These breaks in monsoon are related to the movement of the monsoon 

trough. For various reasons ,the trough and its axis keep on moving northwards or southwards, which 

determines the spatial distribution of rainfall. When the axis of the monsoon through lies over the plains, 

rainfall is good in these parts. On the other hand, when the axis shifts closer to the Himalayas, there are 

longer dry spells in the plains, and widespread rain occurs in the mountainous catchment areas of the 

Himalayan rivers. 

(i)How the ‘break’ phenomenon does is associated with the mansoon?     1 

(ii)What determines the spatial distribution of rainfall?       1 

(iii) What is mansoon trough?           2 

                                                                                  SEC F                                                                 ( 2+3 = 5) 

Q.37. a. On the given outline map of world, located and lable the following countries of the Frist World 

War. 

          1. U.S.A                                                 2.Russia 

    37. b. On the outline map of India locate and label the following :- 

          1. Neighbouring country Sri Lanka 

          2. Aravali Ranges   3. Maharashtra     

 


